
A

8

B

C

765

D

E

F

86 7

4321

A

B

C

2 3

D

E

1

F

THIRD ANGLE PROJECTION

THE BIRMINGHAM
DRIBBLER LOCOMOTIVE

2-13-21

41
1.61[ ]

58
2.28[ ]72

[2.83]

172,71
[6.80]

66,67
[2.62]

184
[7.24]

GENERAL TOLERANCES UNLESS NOTED  
.XXX  .XX  ANGLES 

0.OOX  0.0XX  0.XX SIZE DRAWING NAME

DRAWN: JCM DATE  A3 DRIBBLER ENGINE ASSY.  
CHECKED:  DATE  SCALE:AS SHOWN DWG. NO.: 50 SHEET 1 OF 2 

REV. DATE DESCRIPTION

0 

   

ITEM
NO.

DWG
NO.

DESCRIPTION MATERIAL SIZE NOTES QN'TY

50 DRIBBLER ENGINE ASSY.

1 100 FRAME ASSY. 1

2 200 BOILER ASSEMBLY 1

3 300 FRONT AXLE ASSY. 1

4 400 REAR WHEEL ASSY. 2

5 500 CYLINDER ASSY. 2

6 600 CON. ROD ASSY. 2

7 700 BURNER ASSY. 1

8 800 AXLE SUPP. BRG BRASS/BRNZ. 1

9 800 SHOULDER SCREW MILD STEEL M2.5 1

10 800 SPRING S.S. 2

11 800 STEAM PIPE COPPER 3/16 ODT X .014" WALL 1

12 800 THRUST WASHER BRNZ. 4

13 S.H.C.S. STK. M2.5X16 4

14 SCREW, FLAT HEAD DIN 84 M2X6 2

15 HEX NUT STK. (S.S.) M3 4

SCALE  0.500

THIS DRAWING MAY BE FREELY USED OR MODIFIED 
FOR ANY NON-PROFIT OR NON-COMMERCIAL USE.
ALL ACCURACY AND SAFETY ISSUES ARE THE USERS 
RESPONSIBILITY. THE ORIGINATOR AND THE PROVIDER 
ARE NOT RESPONSIBLE OR LIABLE FOR ANY LOSSES OR
DAMAGES INCURRED FROM THE CREATION OR USE OF 
THE PRODUCTS CONTAINED IN THIS DRAWING.
THIS NOTE APPLIES TO ALL DRAWINGS IN THIS SET.

THE BIRMINGHAM DRIBBLER MODEL STEAM LOCOMOTIVE
TWO CYLINDER SINGLE ACTING OSCILLATING TYPE

 12.7 BORE X 22 STROKE
2.62" GAGE


	Sheet 1
	Views
	new_view_8
	new_view_9
	new_view_1
	right_3
	left_4
	top_24



